PROFESSIONAL EXAMINATION BOARD
§ Profsceicnl Group-4, Asstt. Grade -3 Stenographer,
reb@mmmqtion Stenotypist , Data Entry Operator Combined
board Recruitment Test - 2018
29th Jyly 2018 02:00PM

Topic:- General Knowledge

1) Who among the following was a Chief Guest for Republic Day Parade 2018? /

fFrafeafEa & & #19 s fRaw wRs 2018 F/a gRey ifafy A/f
1. Benjamin Netanyahu / CEIEE] ﬁ?FCI'IE

2. Emmanuel Macron / SHIJUT B

3. Maris Kucinskis / AR HRIRGH

4. Halimah Yacob / il Ylpd

Correct Answer :-

« Halimah Yacob / €¢Il Ylhd

2) Who among the following is the Advocate General of Government of Madhya Pradesh? /

Frafafad & 9 #1999 Uy ¥ & Saidbe SR 82
1. Purushaindra Kaurav / W HRA

2. N.M. Lodha / T.UH. &gl

3. Atul Nanda / 3{dl =Gl

4, Udaya Holla / 3¢d Eh('_t'ﬂ

Correct Answer :-

« Purushaindra Kaurav / W BRI

3) Who has become the first Indian golfer to qualify for LPGA (Ladies Professional Golf Association) Tour
Championship? /

m@@mmmm@mawasmmmmmmww

1. Neha Tripathi / ﬁ_E;T [ELIGI

2. Diksha Dagar / 1&T TR

3. Aditi Ashok / 3ffGfd ez

4. Gaurika Bishnoi / THRepT IEEEIH

Correct Answer :-

. Aditi Ashok / 3ffefd 3



4) Name the Indian cricketer who inaugurated his first global cricket academy in the United Arab Emirates. /

%mwmmmmﬁ,ﬁ%ﬁmmmﬁwmwmmm
|

1. Sachin Tendulkar / G ﬁw
2. M.S. Dhoni / GH. TF. €It

3. Rahul Dravid / g &/dS

4. Sourav Ganguli / IRa Tﬁ"ﬁ

Correct Answer :-

« M.S. Dhoni / TH. T, -t

5) ‘Ruk Jana Nahi’ scheme in Madhya Pradesh pertains to: /

AU | ¥ ST Ta1” o1 e & Heiftd o

1. Madhya Pradesh State Open School / & TR oY 310 Ipd

2. Madhya Pradesh State Industrial Development Corporation / H&] TR 1T e Ay fm
3. Madhya Pradesh State Road Transport Corporation / H& =TT g uidegd A

4, Madhya Pradesh State Housing Board / ¥ TSR IS T S8

Correct Answer :-

» Madhya Pradesh State Open School / & TSR ST 30T Ipd

6) ‘Saksham 2018’ is a programme of Government of India in order to promote: /

HeH 2018’ YR IRPR 1P HUpH 3, RAP1Iey Sl ag@areArgl
1. Exports of automobile / ffermarsa & fafd

2. Rural roads / ATHIOT ‘GI—S'a‘T

3. Electrification of villages / TTial &7 ﬁgﬂ?ﬁam

4. Conservation of fuel / é‘iﬂ DT TR

Correct Answer :-

« Conservation of fuel / EC?FT DT IR0

7) ‘Lokrang Samaroh’ held in Bhopal is celebrated every year on J
HUTe & Ao AT SR TP a4 Y T AT B
1. Republic Day / Ture faag

2. Independence Day / LSREGIRGER]

3. Deepavali / I CRl

4. Dussehra / GRIgRI

Correct Answer :-



« Republic Day / TTUTGH fgad

8) What is the name given to the India’s fastest super computer unveiled by Indian Institute of Tropical
Meteorology recently? /

T1a g1 H yRedta Iwor 3t B fagr ST g1 Sgurfed fPU T URA & Aad aW UR HER S R
am fear mar 82

1. Soorya /ﬁif

2. Param / URH

3. Pratysh /MY
4. Shakti / Trfa

Correct Answer :-

« Pratysh /UgY

9) What percentage of the population in Madhya Pradesh lives in villages? /
AU § eI H1 fha=r ufawra gl # tgar o2

1. 50%

2.33%

3.25%

4. 75%

Correct Answer :-

o 75%

10) Which of the following was the capital of Madhya Pradesh created in 1950 from British Central Provinces and
Berar? /

1950 B fafewr Sea widl ik R A FFafafa & F 57 geg vd=r o1 Isrer=i a=mam @y a1
1. Gwalior / TR

2. Indore / $ER

3. Pune / gO1

4. Nagpur / QR

Correct Answer :-

« Nagpur / TNTYR

11) Which among the following is the biggest tribe in Madhya Pradesh? /
frafafea & @ o9 99 v A 9a¥ 931 Swtd 32
1. Bhil / i

2. Sahariya / geiar
3. Gond /TS



4. Bharia / HTIRTT

Correct Answer :-

. Gond /TS

12) Which national award related to film was won by Madhya Pradesh state for the year 2017? /
o 2017 ¥ 7o QR ¥y gRT fibed @ Wafia ®1 a1 It R Sitar war are

1. Best Film Development Corporation / ﬂé’a'g fired fawra fAmmm

2. Most Film Friendly State / gaffie fthed ﬁﬂ?\T{UT Y (InE e thsett @E’)

3. Producing Best Film on National Integration / T@'q TP R ﬂa‘ag fhe 1 fAmfor

4. Maximum Collection From Screening Films / THIT mﬁﬁ @ 3B ar W

Correct Answer :-

« Most Film Friendly State / Fafidid fthed faramquf Ireg (dike fihed theal we)

13) ‘Khajuraho Mahotsav’ organized in Madhya Pradesh relates to which one of the following fields? /
AU # IfSTd EeRTe! Hetwa fufifaa aef # & fewd d@adfta 32

1. Theatre / fITER

2. Classical Music / RITRd1g I¥iid

3. Classical Dance / [T B2

4. Folk Dance / @& Jd

Correct Answer :-

« Classical Dance / Rl G2

14) The Krishna Raj Kapoor Auditorium and Art & Cultural Centre were inaugurated on June 2018 in which of
the following places of Madhya Pradesh? /

7 uex & fraforfad Rl # @ w81 57 2018 H $OM IS HYR ATSNTH 3R T Td Wepid g &1
IguTeH foar mar 412

1. Pachmarhi / U?ITI_G?[
2. Rewa /X1l

3. Khajuraho / W
4. Bhopal / T

Correct Answer :-

« Rewa/daT

15) How many divisions are there in Madhya Pradesh? /

Teg yewr # fra wea (fediem) 82

1.9



2. 11
3.10
4.8

Correct Answer :-

« 10

16) World Bank has signed $210 Million loan agreement with Government of India on April 2018 with regards to
in Madhya Pradesh. /

Ay deAamusw A F Ty A 3Ud 2018 B R WRPR & I1Y $210 FAfera For gasia
TR gIeR fepu|

1. drinking water / U= &1 Ut

2. low cost housing / P H SITd AT
3. primary education / TTdTHe fR1&m

4. rural connectivity / ol HAfdefact

Correct Answer :-

« rural connectivity / o HAfaefact

17) Faggan Singh Kulaste, a Minister of State in the Union cabinet, represents which Parliamentary constituency
in Madhya Pradesh? /

F=ig ifrisa ¥ vy W wEE Rig s, geame § {59 I9dy & o1 ufaffia w34 82
1. Shahdol / XESIA
2. Ratlam / XddlTH

3. Mandla / H&dl

4. Betul / aﬂﬁ

Correct Answer :-

« Mandla / HSdl

Topic:- General Hindi

1) R & fore 9 yufgarh ard vl & ufd # g
1. BN, Ve, Th&

2. PR, 3, T

3. HRRY, Ga=H, G

4. BT, UG, A

Correct Answer :-



2) “EE ¥ Ry W vatqaTh are Tl o ifd B T
1. QIRF, Y, I

2. IR, Y, TORE

3. I, 7Y, TR

4. IR, Y, TRT

Correct Answer :-

3) 3% B AHI YoTa &1 o Fu Rpai A A p A R
1. 3 F I DI AP S

2. 951U &1 B3 TGRT AT

3. §¢TU 1 UHHH HERI

4. §TU BT UHHH YgRI 7 B

Correct Answer :-
- YGI0 T THH HERI
4) I & fore agt fy fawde =t gl
1. AS+B
2. AST+BIY
3. TOH+BY
4. JIS+3B

Correct Answer :-

. B

5) 3R T YeTa¥ &1 3 g fApeul A A HT AT R?
1. UH H B3R I = dicl

2. 99 H HIR qo SierT

3. 1Y H HSR da 9 dial

4. 1Y H HSR go SleT

Correct Answer :-

. BIYH FESR I AT

6) R o Ugd g B F R T wes P A A B ATR?
1. 3t

2.
3. UG



4 T

Correct Answer :-

7) ‘e & g el IfY fassg =1 gl
1. HeT+3RT
2. II'5’+§Q[
3. HEHURI
4. HET+'{'QT

Correct Answer :-

. TN
8) ‘R SERITN IS & R o v Fra A A S AT R?
1. 3P
2. 3BT
3. 3fcpTed
4. 3T

Correct Answer :-

9) R FIYS U FAFAAPTATS?
1. UL
2. 9]
3. UR=],
4. TR

Correct Answer :-

10) Yo fat g ®1 981 FRwa =% w4t - 7 e & @ o1 1 seieR 82
1. JUET SADR

2. FUD ABR

3. XY 3{ABR

4. 3JUN 3(TPR

Correct Answer :-



11) 3@ IUF A 91 Weg FH A A B AT?
1. WA
2. 3R
3. STURY
4. U1

Correct Answer :-

12) o &7 9 & F S 91 98! I e 32
1. Ghe
2. g
3. UTshd

4. Yhd

Correct Answer :-

13) TTIEE BT TS ARG g Fad ¥ saard
1. A9 & feru et

2. AT

3. A R

4. T 1 T1GT

Correct Answer :-

. TR

14) 3Ry ITT A AT Vg FAA A P AT B2
1. 3R

2. YT

3. TABTRSD

4. 3feafd

Correct Answer :-

15) <31’ BT 9 o | P 1 At faa reg 82
1. IRTER
2. ARGR
3. FER



4. fFRIR

Correct Answer :-

16) TP IR JRIE A T R TTRMA|

fYpa et o o gt O - A Fmd I s AT
1. R

2. YOS T

3. 3% 9

4. AT T

Correct Answer :-

o YUHb Y

17) Ad WTH SGATY 994, 964 Fis AR | - & g 3 J 319 91 SR 82
1. SHIET SADBR

2. Y ABR

3. U 3TDR

4. IUHT 3ABR

Correct Answer :-

Topic:- General English

1) Choose the correct form of tense for the given sentence:
Right now, he video games on his computer.

1. has playing

2. are played

3. have played

4. is playing

Correct Answer :-

« is playing

2) Choose appropriate articles for the given sentence:

After getting evidence, suspect was interrogated and imprisoned.
1. the, the

2.a,an



3. a, the
4. an, the

Correct Answer :-

« the, the

3) Select the suitable conjunction to complete the given sentence:
Mr. Reddy is very learned; I respect him.

1. since

2. 80

3. still

4, for

Correct Answer :-

4) Select suitable prefix from the given options to complete the given sentence:

The club regrets that the 25m pool will be closed for __furbishment between 21st July and 18th August.
1. uni-

2. sub-

3. in-

4. re-

Correct Answer :-

5) Choose the appropriate preposition for the given sentence.
A man threw a stone the speaker and it hit him on his head.

1. at
2.1n
3. by

4. for

Correct Answer :-

6) Choose the most suitable determiner for the given sentence:
The Gupta family has very money and can’t go for a holiday every year.
1. many

2. some



3. every
4, little

Correct Answer :-

« little

7) Choose the appropriate articles to complete the given sentence.
Who is ___ girl sitting there? She is ___ untidy girl.

l.a,a

2.a,an

3. the, a

4. the, an

Correct Answer :-

8) Choose the option with the appropriate punctuation inserted in the given sentence.

Of the eight people hiding in the Secret Annexe only one Annes father survived

1. Of the eight people hiding in the Secret Annexe," only one, Anne's father, survived.
2. Of the eight people hiding in the "Secret Annexe," only one, Anne's father, survived.
3. Of the eight people hiding in the "Secret Annexe" only one, Annes father, survived.

4. Of the eight people, hiding in the "Secret Annexe," only one Anne's father, survived.

Correct Answer :-

« Of the eight people hiding in the "Secret Annexe," only one, Anne's father, survived.

9) Choose the option with the appropriate punctuation inserted in the given sentence.
His story was in many ways plausible

1. His, story was in many ways, plausible.

2. His story was, in many ways, plausible.

3. His story was in many, ways plausible.

4. His story, was in many ways plausible.

Correct Answer :-

« His story was, in many ways, plausible.

10) Choose the correct form of verbs that is in agreement with the subject:
He nothing but TV.
1. does, watched

2. does, watch



3. do, watch

4. do, watches

Correct Answer :-

« does, watch

11) Spot the error in the given sentence:

Has he come in train or by foot for the function?
1. For the function?

2. In train or by foot

3. Come

4. Has he

Correct Answer :-

« In train or by foot

12) Choose the appropriate form of the verb to complete the given sentence.
My mother ___ me about her hometown.

1. told

2. speak

3. said

4. tell

Correct Answer :-

o told

13) Fill in the blank with a suitable collective noun from the given options:
The table hasa ______ of books neatly placed on it.

1. stack

2. pack

3. pair

4. range

Correct Answer :-

o stack

14) Fill in the blank with simple present tense of the verb from the given options:
Renu is angry because her brother her mobile every day.
1. using

2. was used

3. uses



4. use

Correct Answer :-

15) Choose the appropriate preposition for the given sentence.

We met her the theatre last evening.

1.0on
2.in
3.at

4. of

Correct Answer :-

16) Choose the option that best transforms the given sentence as directed:

The country does have a humber of reputed medical colleges. (Question tag)
1. The country does have a number of reputed medical colleges, do they?

2. The country does have a number of reputed medical colleges, doesn’t it?
3. The country does have a number of reputed medical colleges, hasn’t it?

4. The country does have a number of reputed medical colleges, haven’t they?

Correct Answer :-

e The country does have a number of reputed medical colleges, doesn’t it?

17) Choose the correct form of modal auxiliary verb for the given sentence:
It rain today, so carry an umbrella with you.

1. should

2. would

3. may

4. will

Correct Answer :-

Topic:- General Maths

1) In alibrary, 15 books of botany, 20 books of zoology and 25 books of chemistry have to be arranged topic wise
in stacks. If the books are all of the same thickness, then how many will be there in each stack? /

TP QEIPHTad |, 15 fhard gaufa fags W, 20 frard shafage R @i 25 frae A fagm w g s
éﬁwwﬁwﬁmﬁmaﬁmﬁ%ﬁaﬁ%ﬁmﬁaﬁﬁ%ﬁmwﬁﬁmﬁmﬁ



1.2
2.5
3.10

4.3

Correct Answer :-

2) A dealer purchased a fan for Rs. 1040. After allowing a discount of 20% on its marked price he gains 20%.
Find the marked price of the fan. /

TS faohdT A TP 6T 1040 ¥UC § @1 39& Sifhd T TR 20% T UG B & 16 I8 20% TH UTed
HA1 2 | U 1 Sifpd gea 91a +e |

1. Rs. 1248 / 1248 34U
2. Rs. 1456 / 1456 34U
3. Rs. 1800/ 1800 ¥YU
4. Rs. 1560/ 1560 UY

Correct Answer :-

o Rs. 1560/ 1560 ¥UQ

3) The number 0.585585585............ is: /
HET 0.585585585............ S

1. An integer / Uch ‘{UTW

2. An irrational number / Y SURAY Tw=T
3. A natural number / Udh W Rines)|

4. A rational number / Th ufReag T

Correct Answer :-

« A rational number / Tdh uRey e

4) The marks obtained by 11 students in a class are 25, 6, 15, 8, 22, 16, 9, 21, 18, 13, and 20. Find the median. /
TP H&T A 1 faenffay grRy uma 8i 25, 6, 15, 8, 22, 16, 9, 21, 18, 13 3R 20 &1 ATfAPT (Hifsam) AwTiemw)
1.15

2.20

3.18

4. 16

Correct Answer :-

- 16



The heights of three cylinders are in the ratio 3:4:5. The sum of the three heights is 48 cm. Find the height of the
tallest cylinder. /

T FE D1 TS BT ST 3:4:5 8 | A1 D1 SHATSAT BT AN 48 A} B 1 T S A0 B T8 91 L |
1. 12cm / 12 9t

2. 4em / 4 QY

3. 16cm / 16 &Y

4.20cm / 20 GHI

Correct Answer :-

« 20cm /20 GHt

6) Find the next term in the given sequence.
7, 49, 343, /

faT T 3 pH ® SRTET Ug FId FifoTU|
7,49, 343,

1. 2401
2.4201
3.742
4.350

Correct Answer :-

« 2401

7) Find the cube root of 74088. /
74088 1 91 Jd A1
1.12

2.42

3.32

4,26

Correct Answer :-

8) If a four digit number 70X2 is a multiple of 9, then what are the possible values of X? /
Tfe TP AR 3! arell TWAT 70X2, 9 BT U &, dl X BT GUIId 71 F1 82

1.0,9

2.3,6

3.0,3

4.6,9

Correct Answer :-



9 The divisor is 6 times the quotient and 4 times the remainder. If the remainder is 12, then the dividend is

/

TSI, HRTHE BT 6 AT & 3NR AV &1 4 T 21 afe AVhd 12 §, df ureg ——2 |
1.396

2. 384

3. 400

4. 288

Correct Answer :-
« 396

10) The HCF of 20 and 45 can be expressed as 2n+1. Find the value of n. /

20 3R 45 F HgTH FATIGAD DI 2n+1 | S AT AT WHdT ¢ | n FT A J1d S
1.1

2.2

3.5

4.3

Correct Answer :-

11) The volume of a cylinder is 448mem? and the height is 7em. Find the total surface area of the

cylinder. /
U RAdest & HAe 448xem’ © AR 305 7 I §1 FAResT @1 del guSIT aAhe
IGEAG!

L. 420m

, 240n
3. 382n

4. 350m

Correct Answer :-

12 273
) The value of —1is i
13
273

el Hle ;
13 %

1.2.1



2.2.14
3.2.24
4.2.2

Correct Answer :-

« 2.1

13) If3¥ 1 =2187 thenxis i
gfe 371 =2187% drx 21

1.7
2.9
3.8

4.6

Correct Answer :-

th

14) A B and C have a contract work for Rs. 550, Together A and B are supposed to do % of the

work. How much does C get? /
A.B U9 C & 91 550 mwwa@ﬂm%lAuﬁBﬁWWM$;
ST &1 e 61 C &1 fhae s9v Fed 82

1. Rs. 200 / 200 TUT

2.Rs. 175/ 175 ¥UQ

3.Rs. 270 /270 ¥UY

4.Rs. 310/310 34T

Correct Answer :-

« Rs.200/200 24U

15) Factorize:
x¥—8x24+9x+18 /

AUTAES A
= 8x® 4 9 418
1. (x=3)(x + 1)(x - 6)
2. (x-3)(x— 1)(x+6)
3.(x+3)(x—-1)(x+6)
4. (x+3)(x - 1)(x - 6)
Correct Answer :-

. (x-3)x+ Dx-6)



16) Evaluate:
7.98x7.98-2.02x2.02

5.96
HedTehel HRT:
7.98x7.98—-2.02x2.02
5.96

/

1.7.96
2.5.96
3.2.02
4. 10

Correct Answer :-

« 10

17) The area of a rectangular piece of land is 1600m?. The length of the field is 80m. Calculate the

cost of fencing the field at the rate Rs. 120 per metre. [

9 & TH WIATHR TS HT AR 1600 H- §1 Hge T Fars 80 A §1 120 TU
ufa #fex it X 4 HAga 7 a5 Jney 7 dErg F AT S

1. Rs. 20000 / 20000 ¥YU

2. Rs. 30000 / 30000 ¥UUY
3. Rs. 2400 / 2400 ¥YUT
4. Rs. 24000 / 24000 >UU

Correct Answer :-

« Rs. 24000 /24000 ¥UU

Topic:- General Aptitude

1) Rita purchased 150 kg of wheat at the rate of Rs. 7 per kg. She sold 50 kg at a profit of 10%. At what rate/kg
should she sell the remaining to get a profit of 12% on the total deal? /

a1 7 7 Fug ufa foel B = | 150 fretim 75 @fiari 36 5o fvent 15 3 10 wfowra & @rv W 9=
Ay A o1 3wl fra fpa wra & =1 71 76 Fa W w3 12 ufa=ra o1 a1y fre wme?

1.Rs. 7.71/7.71 24U
2.Rs. 7.91/7.91 34T
3.Rs. 7.61/7.61 34T

4, Rs. 7.81/7.813UUQ

Correct Answer :-
e Rs.7.91/7.91%4Uq

2) 26 Chairs and 10 tables were bought for Rs. 16560. If the average cost of table is Rs. 1227, then what is the
average cost of a chair? /



zsgﬁfﬁ;ﬁnoﬁa’fﬁmssomﬁ@'ﬂmw%l i A DT ST AT 1227 FUTY B, df HAl B 3fRId
NI AT 3?2

1.Rs. 167 /167 24U
2. Rs. 165/ 165 24U
3. Rs. 162 /162 %UU
4. Rs. 160/ 160 ¥UTQ

Correct Answer :-

« Rs. 165/1652UU

3) What percent of numbers from 1 to 60 have squares that end in the digit 1? /
19 60 % fora-it ufa=ra Temsii & ovf ¥ § St 3 1 & T id 32

1. 25%

2.20%

3.30%

4. 15%

Correct Answer :-

« 20%

4) Two trains are moving in the same direction at 60 km/hr and 40 km/hr respectively. The faster train completely
passes a man sitting in the slower train in 36 seconds. Find the length of the faster train? /

31 39 uT fa=m A wust: 60 foiil/der 3R 40 friit/der wr wa 381 &1 991 24, 36 Ybs # il 39 A o v
3reHt ) guia: IR -l 81 a1 ¢ F daTs 71 BIfTe?

1. 400 m / 400 #t
2.100 m / 100 #¥
3.300 m / 300 HT
4.200 m / 200 Ht
Correct Answer :-

« 200 m /200 |t

5) The average of marks of 13 papers is 50. The average of marks of the first 7 papers is 52 and that of the last 7
papers is 45. What are the marks of the seventh paper? /

13 TURY & 3ich) 1 3T 50 81 YA 7 TURI & 3feh] T 3NHd 52 § 3 3ifaw 7 URY & 3ip} BT 3NTd 45 &1
ITdd TR & 3P FT8?

1. 29 marks / 29 3{®
2.25 marks / 25 3
3. 26 marks / 26 3

4. 32 marks / 32 3%



Correct Answer :-

« 29 marks /29 3

6) The ratio of ages of Nayak and Brijesh is 7:2. The product of their ages is 504 years. What will be the respective
ratio of their ages after 18 years? /

ATIS 3R TOIR P AR BT SUT 7:2 81 IAP 3T BT UG 504 94 81 18 TH F1¢ D! 3T BT Haferd
SUTd T §RM?

1. 8:7
2.6:7
3.7:8

4.2:1

Correct Answer :-

7) A man travels a certain distance by train at the rate of 20 km/hr and walked back at the rate of 4 km/hr. The
whole journey took 4 hours 48 minutes. What distance did he travel? /

TS 3TeHT ¢ gRT 20 fHHi/der @1 ara @ te ¥ g 3t amn sar 8 o 4 fpii/der ot are & arowy geran
1 R A H 4 69 48 fiFe @ | IUA d fha-it g aa a2

1. 18 km / 18 fobeit
2. 14 km / 14 et
3. 16 km / 16 fobd!
4,12 km / 12 Tt

Correct Answer :-

« 16 km / 16 bt
8) If LBAEHC is the coded as BLEACH, then which of the following is coded as LOBNHMKZ? /

I LBAEHC &7 BLEACH ¥ €9 # &ifeq 64T SITaT 8, a7 [Meferiaa & & 8 LOBNHMKZ % &9 § ®ifeq far
STTIT?

1. OBNKZLHM
2. LOBNHMKZ
3. OCPMALNI

4, OLNBMHZK

Correct Answer :-

« OLNBMHZK

9) A trader has 50 kg of pulses, part of which he sells at 6% profit and the rest at 16% profit. He gains 14%
overall. What is the quantity sold at 16% profit? /



TP ATURI & IR 50 fFAITH gTd &, Sorad T URT 31 98 6% & ATH TR 99471 8 3R AT BT 16% & AIH TR
ATAT 2| T8 T 14% TTH YT BT 3 | 16% ATH TR AT 715 AT 771 82

1.35 kg / 35 T
2.30 ke / 30 foraramd
3.25 kg / 25 fohaiumd
4. 40 kg / 40 fpammd

Correct Answer :-

. 40 kg / 40 fparma

10) A basket contains 4 white, 5 sky blue and 3 deep green marbles. If 2 marbles are drawn at random from the
basket, then what is the probability that both are white? /

TS 1B | 4 Giba, 5 MM 3R 3 TR g3 T & Ada 8 | Tfe S Ardal ) S sl A arefde & u A e
ferar sirar 8, Y 71 wilear gRft i S wrda Itbe 31 & A2

(PSR ]

— | k2

4.

Correct Answer :-

11) One card is drawn at random from a pack of 52 cards. What is the probability that the card drawn is either a
red card or a king? /

52 UIT 919t ATRT @1 ) A AR S U A TS w1 FHiwrar | &t wiikear @ fob feTen war v an at ara
U § 1 fhR aTeRme 32

w
5l

4,13

Correct Answer :-



12) If 7 parallel lines are intersected by another 7 parallel lines, then find the number of parallelograms that are
formed. /

TS 7 iR Y@ B 3 7 WHiAR Y@l B GRT Al feed fam Sirat @ o a7 a1 FAr= ag &t
HET SATgu|

1. 431

2. 411

3. 421

4. 441

Correct Answer :-

o 441

13) If CHAIR is coded DIBJS, then how is TABLE coded? /

TfE CHAIR B DIBIS & U § SifSd fbaT SITdT & o) TABLE B! Hd Bifsd fpar Smgm?
1. UBCMF

2. SEGMI

3. UDBLE

4. RACGK

Correct Answer :-

« UBCMF

14) The ages of Raghupati and Parmeshwar are in the ratio of 5:7 respectively. Sixteen years ago, their ages were in
the ratio of 3:5 respectively. The present age of Parmeshwar is )

Ul 3R WRAYR Y MY HU: 5:7 & U A 31 e 96 Ugq, ITH! MY HH: 3:5 & Furd & At
WRAR P ada g 21

1. 56 years / 56 a4
2.35years /35 g
3. 45 years / 45 ay

4. 30 years /30 a'ﬁf

Correct Answer :-

e 56 years/56 aﬁ



Study the following information carefully to answer the question.
3DEKSP27#@4JTHO*FMR15% 768
How many such numerals are there in the above arrangement which are immediately followed by

a symbol and immediatelv preceded by a letter?

Weed & 3cak &t & folv fowaifelf@a SIeisrl &1 waemigas gg)
3JDKSP27#@4JTHO*FMR153%768

39Yed gaed A W fhad 3% § [Sed {d a@ig ve g 3R gid ggd U 3ER
&7

1. Two/E«Pf

2. Four /dR
3. Three /?‘ﬁ:f
4. One / Tdh

Correct Answer :-

e One/Udh

Topic:- General Computer

1) In MS Word, which of the following is NOT a font effect? /
e g3 F, Fafafea # @ o9 911 Bie shae 781 82
1. Regular / W

2. Subscript / BCIREaY

3. Superscript / W

4. Strikethrough / Wiﬁ

Correct Answer :-

« Regular/ W

2) In MS Excel 2010, formula options can be found in: /
THTH TR 2010 H, BT TR 981 Ul SidT 8:
1. Insert tab / ET\‘TCF |

2. Formulas tab /q”T\IJIiT’IT |

3. Page Layout tab / Ul A3 e

4. View tab / a;rﬁ‘q'

Correct Answer :-

« Formulas tab / q"T\IJIiT"IT G|

3) In MS Excel 2007, the correct format to use a function in a worksheet is .
THTH TR 2007 H, T gt § fHdl Ba=m &1 ST $31 & e |gt wide ]

1. =if?



2. -if”
3. ‘~if’
4, ‘1=if’

Correct Answer :-

4) In MS Excel 2007, how you can hide rows or columns? /
THYH TR 2007 H, 30 Ufead Q) 1 Wl (PTed) $Y $4 5158 I 9o 82
1. Click on the selected row or column and press delete /
qoiaes A U HieH IR et B SR fEedie I Iw i
2. In MS Excel 2007, hide option is not present /
THTY TR 2007 H, B15S =M HANE T8 ¢
3. Right click on the row or column and select hide option /
R} AT HIAH W 3T [P B 3R FT5S ST Bl Foiae PR |

4. You cannot hide row or column in Excel /

3T TR H W T DI Bl 8158 T8l PR Ihd gl

Correct Answer :-

« Right click on the row or column and select hide option /

U BIAH TR C fFaPp B3 3R B85S Y Bl Jdde B

5) In MS Excel 2007, which one of the following gives today's date in date format (e.g. 07/17/2018)? /

@wgﬁﬁ20071?r',ﬁwﬁr@aﬁ@raﬁﬁﬁ?ﬁwﬁzmw%mwmzomﬁ'maﬂﬁm’maﬁ
ATdT 82

1. =THIS DAY()

2. =NOW()

3. =TODAY ()

4. =PRESENT DAY()

Correct Answer :-

« =TODAY()

6) In MS Excel 2010, the horizontal bar is located on the  of the screen. /
THEY TRIA 2010 7, gRINT<ad 9R, W $ W iR@gargl

1. top right / HUR GIY G‘nT(_C'TqTEE)

2. top left/wa'lﬁ\}h?(ﬁﬂqm

3. bottom right / :ﬂ%[?{l'q 3R (EI'TET[ NES)

4. bottom left / el ELY 3R (a"m a'CIE)



Correct Answer :-

« bottom right / BIEEALEEIIN CIGERIET

7) In MS Excel 2010, the conditional formatting option can be found in: /
THTH THT 2010 H, HSIREA WBIATCT AR FHH UTAT &1 9l 3
1. Insert tab / 37\‘4—5 |

2. Home tab / BH |

3. Page layout tab / Ul AT o

4. View tab / aﬁ‘q’

Correct Answer :-

« Home tab/Eﬂ'q%a

8) In MS Word 2010, the shortcut key used to list bulletis ./

THTY 8 2010 ¥, foRe gae & R @i S SR arcft eiidede &1 B
1. Alt+Shift+L

2. Ctrl+Alt+L

3. Ctrl+Shift+B

4. Ctrl+Shift+L

Correct Answer :-

o Ctrl+Shift+L

9) In MS Word 2007, how many ways a word can be aligned? /

THTH T8 2007 H, T Weg &) fova- adiop! | gers fosar o g&ar 32
1.2 ways/2 GHEA

2.3 ways/3 SRE]

3. 5ways/5 SRED]

4. 4 ways / 4 RG]

Correct Answer :-

. 4ways/4?‘|ﬁ3’>3f

10) In MS Word 2010, what does Home key do? /

THEY 98 2010 H, B1H B T Bl 82

1. It opens recently saved files / g BI<T 33[ T A9 Bt TI_SC ng?ﬁ P YT BT % |

2. Moves the cursor to the end of the file / lIgd & 3id | W CAKESIGI %I

3. Moves the cursor to the beginning of the file / ISl I RR=3Td A HIR BT A ATl %I
4, It directly saves the document / dg ﬁﬁqﬁf P ST Ad Hdl % |



Correct Answer :-

» Moves the cursor to the beginning of the file / PS¢l P RR=3{1d T HIR B A ST %I

11) In MS Word 2007, MS stands for ___ ./
THTH IE 2007 §, THEA BT QUi T Rl
1. Mediasoft / HIf ST

2. Metasoft / HETIIGE

3. Microsoft / Iﬂéﬁﬂﬂﬁf
4. Macrosoft / Teh TG

Correct Answer :-

« Microsoft / Iﬂgﬁﬂﬁ?

12) In MS word 2010, the shortcut key used to print a file is: /

THTH 9% 2010 §, T BISd o1 fiic H37 & 1Y SuahT #1 F arelt 2iiéswe 31 8:
1. Alt+H

2. Ctrl+P

3. Ctrl+X

4. Ctrl+V

Correct Answer :-

o Ctrl+P

13) The action ‘Ctrl+Z’ performs operation in the MS Word 2007. /
THTH T8 2007 §, TRM ‘CtrH2 TR Y yefkia sl 3

1. Delete / f&alie

2. Save / ¥a

3. Undo / 3~
4. Redo / ﬂs
Correct Answer :-

« Undo/ 3{~g

14) The Backspace key in MS Word 2007 is used to .
THTH TS 2007 § 35T BT STANT P & fore frar smar 21
1. Insert / _BF\EIT:F

2. Create / ﬁ?q_c'
3. Delete / fSeiie

4. None of the above / SIRIGd H I aﬂ‘s‘ 7‘|€[



Correct Answer :-

. Delete / fSdile

15) Page number can be added to a document on: /
T STagic ¥ U IR &1 ggi IR STaT oI Aol 8:
1. Header only / Had %3?

2. Footer only / Had PR

3. None of the above / STRIGd & & aﬂ‘% T8l

4. Both header and footer / ¥ 3R Tex G

Correct Answer :-

« Both header and footer / 8% 3R eR il

16) Which one of the following is NOT an input device? /
frafufaa & 4 919 @ 0P 3ge faga T8 2

1. Keyboard / Plars

2. Scanner / TR

3. Plotter / TICX

4. Light Pen / dllgC LR

Correct Answer :-

« Plotter / TIeX

17) Computer speakers and headphones are which type of devices? /

R TWHR R FSHIH 5 UpR Ft fEarga &2

1. Input / g19C
2. Storage / TR

3. Software / GTHCATR
4. Output / 3{13cYcC

Correct Answer :-

« Output/ H3cYc



